
EFFECT OF BUS_SET_DELAY ON  MAXIMUM DOMAIN DELAY
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LATEST ANY DEVICE A THRU Z
CAN START  LOOKING AT BSY
AND BE ABLE TO DETECT A
BUS FREE PHASE 

LATEST ANY DEVICE BETWEEN
A  AND  Z  CAN ASSERT ID BIT

ID  Z  ARRIVES AT DEVICE  A  AND IS DETECTED
BY  A  BEFORE  A  LEAVES  ARBITRATION PHASE:
OTHERWISE BOTH DEVICE  A  AND DEVICE  Z  THINK
THEY WON ARBITRATION 

WORST CASE UNDER ABOVE ASSUMPTIONS: 2X + 1800  =  2400  =>  X = 300 ns

NEED TO REDUCE MAXIMUM BUS_SET_DELAY TO 1600 ns OR LESS
IN ORDER TO RECOVER THE FULL 400 ns PROPAGATION TIME ALLOWED
BY THE BUS SETTLE DELAY

400-X

A, B, Z ARE SCSI DEVICES

BUS_SET_DELAY IS THE TIME 
ALLOWED TO ASSERT THE ID BIT

AFTER DETECTING A BUS FREE PHASE

LATEST DEVICE A CAN 
ASSERT ITS ID BIT IF IT
DETECTS EARLIEST
POSSIBLE BUS FREE
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